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Math 53 Quiz 1
January 25, 2017

This quiz will be graded out of 10 points, with individual questions weighted as (indicated). Please
read the instructions carefully, and explain your work.

Problem 1. (3 points) Eliminate the parameter to find a Cartesian equation for the curve, and
sketch the curve, indicating with an arrow the direction in which the curve is traced as the parameter

increases.
x = 2sintcost, y=cos2t, 0<t<m/2
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Problem 2. (3 points) Consider the curve given by
z=3-3t,y=t-1

Find the points on the curve where the tangent is horizontal or vertical. For which values of tis

the curve concave upward?
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Problem 3. (4 points) Set up (but don’t evaluate) an integral that represents the length of the
curve given by the parametrization

z = 5cos(t/5), y = 3sin(t/3)+ 2cos(t/2)
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